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Dedinition

A complex fumber 2 1S dedined as
2=0+1b a,beTi.

The et of all complex numbers € is

knovon 0s Hhe  comglex plane.



» Each complex number z=a+ib 1S
identifred with e point (o b)ERY
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1S called the ima%‘tnar\, part of 2-
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Rectongular and. polar representation
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Euler Formula
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Example. Represert o folbcoing. numb-ers
in the (omplex  plane and expres Hum
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Cor\;\ugfaw of a Complex rumber

Deinidion
The, oompl{X Con\')u?sm‘e of a number
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® (psO= e‘”—kéwl Sing= e —¢
a 2
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€xam;21g,. For 24= 2+ 14 and 2Zz2= 2+03
determine 232, and 21/ Z2
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N-n 1S even

n (n-1)

£ n is edd Hen pitis own 30 N’-n is
even -

ilt n (s ever, then the resudt is alwoy 3

<len.,

R n s a perfect squore, tgn (ne®

laneber  prok (.9 (p)



(b) /n if n is not a perfect square (HINT: write n = k*r, where r does not contain any square
p q Yy sq

factor),
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lf n is aol a pevfect square, then ot least
one of its factors is not a square. So we

Con wrike N=Kr where 1 does not ontain

Gny  Square factorg,

Now, we a1 que by oniradiCkon . Suppese that

nis not o perpect sguare and MM eQ.

Than e con  write \m=?lq) P,@eN,

here pard 9 have no common fockers

(p/q is in iXs Simples + form).
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